

2. $f(x) = 4x$

(a) $F(x) = 4x$

(b) $F(x) = 4x + C$

(c) $F(0) = 3$

$$F(0) = 4(0) + C = 3$$

$$\boxed{F(x) = 4x + 3} \quad \underline{\underline{C=3}}$$

9. (a) $f(x) = x$

$$F(x) = \frac{x^2}{2}$$

(b) $f(x) = \frac{1}{x^3} = x^{-3}$

$$F(x) = \frac{x^{-3+1}}{-3+1}$$

$$= \frac{x^{-2}}{-2} = -\frac{1}{2} \frac{1}{x^2}$$

$$\boxed{F(x) = -\frac{1}{2x^2}}$$

Exercise
33

$$\textcircled{8c} \quad f(x) = \sqrt{x}$$

$$f(x) = x^{1/2}$$

$$F(x) = \frac{x^{\frac{1}{2}+1}}{\frac{1}{2}+1} = \frac{x^{\frac{3}{2}}}{\frac{3}{2}} = \frac{2}{3} \sqrt{x^3}$$

$$F(x) = \frac{2}{3} \sqrt{x^2} \sqrt{x} \quad (\Rightarrow) \quad \underline{\underline{F(x) = \frac{2}{3} x \sqrt{x}}}$$

$$\textcircled{u} \quad f(x) = x \sqrt{x} \quad \Rightarrow \quad f(x) = x \cdot x^{\frac{1}{2}} = x^{\frac{3}{2}}$$

$$F(x) = \frac{x^{\frac{3}{2}+1}}{\frac{3}{2}+1} = \frac{x^{\frac{5}{2}}}{\frac{5}{2}} = \frac{2}{5} \sqrt{x^5}$$

$$F(x) = \frac{2}{5} \sqrt{x^2} \sqrt{x^2} \sqrt{x}$$

$$\underline{\underline{F(x) = \frac{2}{5} x^2 \sqrt{x}}}$$

5. ⑧ $f(x) = \eta r x - \frac{1}{x^2} + \frac{1}{2\sqrt{x}}$

$$F(x) = -\sigma \omega x + \frac{1}{x} + \sqrt{x}$$

⑤ $f(x) = \frac{1}{\sigma \omega^2 x} - \frac{1}{\eta r^2 x}$

$$F(x) = \epsilon \psi x + \sigma \psi x$$

9. ⑧ $f(x) = \frac{(3x-2)^2}{x^2}$

$$f(x) = \frac{9x^2 - 12x + 4}{x^2}$$

$$f(x) = 9 - \frac{12}{x} + \frac{4}{x^2}$$

$$F(x) = 9x - 12 \ln|x| - 4 \frac{1}{x}$$

10. ③ $f(x) = e^x \left(\ln x + \frac{1}{x} \right)$

$$f(x) = e^x \ln x + e^x \frac{1}{x}$$

$$F(x) = e^x \ln x$$

④ $f(x) = \frac{2x - x^3}{e^x} = \frac{2xe^x - x^2e^x}{e^{2x}}$

$$F(x) = \frac{x^2}{e^x}$$

11. ③ $f(x) = 3x^2 e^{x^3}$
 $F(x) = e^{x^3}$

④ $f(x) = \frac{x}{\sqrt{x^2 + 4}}$

$$F(x) = \sqrt{x^2 + 4}$$

$$\Rightarrow F'(x) = \frac{2x}{2\sqrt{x^2 + 4}} = \frac{x}{\sqrt{x^2 + 4}}$$

⑤ $f(x) = e^{x^2 + \ln x}$

$$f(x) = e^{x^2} \cdot e^{\ln x}$$

$$f(x) = x e^{x^2}$$

$$F(x) = \frac{1}{2} e^{x^2}$$

$$12. \textcircled{B} f(x) = \frac{1}{x-2} \quad , x > 2$$

$$F(x) = \ln |x-2|$$

$$F(x) = \ln(x-2).$$

$$\textcircled{D} f(x) = \sigma w x$$

$$f(x) = \frac{\sigma w x}{nr x}$$

$$F(x) = \ln(nr x).$$

$$\textcircled{52} f(x) = \frac{1}{2+e^{-x}} = \frac{1}{2+\frac{1}{e^x}} = \frac{1}{\frac{2e^x+1}{e^x}}$$

$$f(x) = \frac{e^x}{2e^x+1}$$

$$F(x) = \frac{1}{2} \ln(2e^x+1)$$

16. ① $f'(x) = 1 - \frac{3}{x^2}$

$$f(1) = 2$$

$$f'(x) = \left(x + \frac{3}{x} \right)'$$

$$f(x) = x + \frac{3}{x} + C$$

$$\underline{x=1}$$

$$f(1) = 1 + 3 + C$$

$$2 = 4 + C$$

$$C = -2$$

$$f(x) = x + \frac{3}{x} - 2$$

$$f'(x) = g'(x)$$

Int

$$f(x) = g(x) + C$$

$$17. \textcircled{B} f'(x) = 3^x - 2x + \frac{1}{\sqrt{x}} \quad f(1) = \frac{3}{\ln 3}$$

$$f'(x) = \left(\frac{3^x}{\ln 3} - x^2 + 2\sqrt{x} \right)'$$

$$f(x) = \frac{3^x}{\ln 3} - x^2 + 2\sqrt{x} + C$$

$$\underline{x=1}$$

$$f(1) = \frac{3}{\ln 3} - 1 + 2 + C$$

$$\frac{3}{\ln 3} = \frac{3}{\ln 3} + 1 + C$$

$$C = -1$$

$$f(x) = \frac{3^x}{\ln 3} - x^2 + 2\sqrt{x} - 1$$

20. (B) $f'(x) = e^{-x} + \frac{1}{2x+3}$ $f(0) = \ln\sqrt{3}$

$$f'(x) = \left(-e^{-x} + \frac{1}{2} \ln|2x+3| \right)'$$

$$f(x) = -e^{-x} + \frac{1}{2} \ln|2x+3| + C$$

$$f(0) = -1 + \frac{1}{2} \ln 3 + C$$

$$\ln\sqrt{3} = -1 + \frac{1}{2} \ln 3 + C$$

$$\cancel{\frac{1}{2} \ln 3} = -1 + \cancel{\frac{1}{2} \ln 3} + C$$

$$C = 1$$

$$\underline{\underline{C = 1}}$$

$$f(x) = -e^{-x} + \frac{1}{2} \ln(2x+3) + 1$$

$$\textcircled{d} f'(x) = \frac{e^x + 1}{e^x}$$

$$f(0) = -1$$

$$f'(x) = 1 + \frac{1}{e^x}$$

$$f'(x) = 1 + e^{-x}$$

$$f'(x) = (x - e^{-x})'$$

$$f(x) = x - e^{-x} + C$$

$$\underline{x=0}$$

$$f(0) = -1 + C$$

$$-1 = -1 + C$$

$$C = 0$$

$$f(x) = x - e^{-x}$$

$$\textcircled{2} \quad f'(x) = e^{x^2 + \ln x}$$

$$f(1) = \frac{e}{2}$$

$$f'(x) = e^{x^2} \cdot e^{\ln x}$$

$$f'(x) = x e^{x^2}$$

$$f'(x) = \left(\frac{1}{2} e^{x^2} \right)'$$

$$f(x) = \frac{1}{2} e^{x^2} + C$$

$$f(1) = \frac{1}{2} e + C$$

$$\frac{e}{2} = \frac{e}{2} + C$$

$$\textcircled{C=0},$$

$$21. \quad ⑧ \quad f'(x) = \frac{(x-1)^2}{x^2+1} \quad f(0)=0$$

$$f'(x) = \frac{x^2 - 2x + 1}{x^2 + 1}$$

$$f'(x) = \frac{x^2+1}{x^2+1} - \frac{2x}{x^2+1}$$

$$f'(x) = 1 - \frac{2x}{x^2+1}$$

$$f'(x) = \left(x - \ln(x^2+1) \right)'$$

$$f(x) = x - \ln(x^2+1) + C$$

$$\underline{x=0}$$

$$f(0) = C = 0$$

$$f(x) = x - \ln(x^2+1)$$

$$22. \textcircled{B} \quad f'(x) = \frac{x \cancel{5} \cancel{w} x - \cancel{4} \cancel{r} x}{x^2} \quad f\left(\frac{n}{2}\right) = \frac{1}{n}$$

$$f'(x) = \left(\frac{\cancel{4} \cancel{r} x}{x} \right)'$$

$$f(x) = \frac{\cancel{4} \cancel{r} x}{x} + C$$

$$x = \frac{n}{2}$$

$$f\left(\frac{n}{2}\right) = \frac{\cancel{4} \cancel{r} \frac{n}{2}}{\frac{n}{2}} + C$$

$$\frac{1}{n} = \frac{1}{\frac{n}{2}} + C$$

$$\frac{1}{n} = \frac{2}{n} + C$$

$$C = -\frac{1}{n}$$

$$24. \textcircled{B} \quad f''(x) = -\frac{1}{x^2} \quad f(1) = f'(1) = 1$$

$$f''(x) = \left(\frac{1}{x}\right)'$$

$$f'(x) = \frac{1}{x} + C$$

$$\underline{x=1}$$

$$f'(1) = 1 + C$$

$$1 = 1 + C$$

$$C = 0$$

$$f'(x) = \frac{1}{x}$$

$$f'(x) = (\ln x)'$$

$$f(x) = \ln x + C$$

$$\underline{x=1}$$

$$f(1) = \ln 1 + C$$

$$1 = C$$

$$f(x) = \ln x + 1$$

$$24. \textcircled{8} \quad f''(x) = 5wx - e^{-x} \quad f(0) = f'(0) = 1$$

$$f'''(x) = (5wx + e^{-x})'$$

$$f''(x) = 5wx + e^{-x} + C$$

$$f''(0) = 5w(0) + e^0 + C$$

$$1 = 1 + C$$

$$\underline{\underline{C=0}}$$

$$f''(x) = 5wx + e^{-x}$$

$$f'(x) = (-5wx - e^{-x})'$$

$$f(x) = -5wx - e^{-x} + C$$

$$\underline{\underline{x=0}}$$

$$f(0) = -1 - 1 + C$$

$$1 = -2 + C$$

$$\underline{\underline{C=3}}$$

$$f(1) = ?$$

29. $f'(x) = \begin{cases} 2x-1, & x < 0 \\ 3x^2-1, & x > 0 \end{cases}$ f on $\mathbb{R}$.

$$\underline{x < 0}$$

$$f'(x) = 2x-1$$

$$f'(x) = (x^2-x)'$$

$$\boxed{f(x) = x^2 - x + C_1}$$

$$\underline{x > 0}$$

$$f'(x) = 3x^2-1$$

$$f'(x) = (x^3-x)'$$

$$f(x) = x^3 - x + C_2$$

$$f(1) = 1 - 1 + C_2$$

$$C_2 = 2$$

$$\boxed{f(x) = \begin{cases} x^2 - x + C_1, & x < 0 \\ x^3 - x + 2, & x \geq 0 \end{cases}} \quad \boxed{f(x) = x^3 - x + 2}$$

$$\lim_{x \rightarrow 0^-} (x^2 - x + C_1) = \lim_{x \rightarrow 0^+} (x^3 - x + 2)$$

$$\underline{\underline{C_1 = 2}}$$

$$f(x) = \begin{cases} x^3 - x + 2, & x < 0 \\ x^3 - x + 2, & x \geq 0, \end{cases}$$

30. $(x-1) f'(x) = 3x^2 - 2x - 1, x \in \mathbb{R}$ $f(0) = 1$

$$f'(x) = \frac{3x^2 - 2x - 1}{x-1}, x \neq 1$$

$$\Delta = 4 + 12 = 16$$

$$x = \frac{2 \pm 4}{6}$$

(1)

$-\frac{1}{3}$

$$f'(x) = \frac{3(x-1)(x+\frac{1}{3})}{x-1}$$

$$f'(x) = 3x + 1$$

$$x \neq 1$$

$$f'(x) = \left(\frac{3}{2} x^2 + x \right)'$$

$$f(x) = \begin{cases} \frac{3}{2} x^2 + x + C_1, & x < 1 \\ \frac{3}{2} x^2 + x + C_2, & x \geq 1 \end{cases}$$

$$f(0) = C_1 = 1$$

$$f(x) = \begin{cases} \frac{3}{2} x^2 + x + 1, & x < 1 \\ \frac{3}{2} x^2 + x + C_2, & x \geq 1 \end{cases}$$

$$\lim_{x \rightarrow 1^-} f(x) = \frac{7}{2}$$

$$\lim_{x \rightarrow 1^+} f(x) = \frac{5}{2} + C_2 = \frac{7}{2}$$

$$\underline{\underline{C_2 = 1}}$$

$$f(x) = \begin{cases} \frac{3}{2}x^2 + x + 1, & x < 1 \\ \frac{3}{2}x^2 + x + 1, & x \geq 1 \end{cases}$$

$$f(x) = \frac{3}{2}x^2 + x + 1$$

$$32. \textcircled{B} \quad x (f'(x) - 2) + f(x) = 0 \quad \frac{x > 0}{f(1) = 0}$$

$$\underbrace{x f'(x) + f(x)} - 2x = 0$$

$$(x f(x) - x^2)' = 0$$

$$x f(x) - x^2 = C$$

$$\frac{x=1}{\downarrow}$$

$$f(1) - 1 = C$$

$$0 - 1 = C \quad \Rightarrow C = -1$$

$$x f(x) - x^2 = -1$$

$$x f(x) = x^2 - 1$$

$$f(x) = \frac{x^2 - 1}{x}$$

$$(8) f(x) = x f'(x) \ln x, \quad x > 1 \quad f(e) = 1$$

$$f(x) - x f'(x) \ln x = 0$$

$$\frac{1}{x \ln x} f(x) - f'(x) = 0$$

$$f'(x) - \frac{1}{x \ln x} f(x) = 0$$

$$g(x) = -\frac{1}{x \ln x}$$

$$G(x) = -\ln(\ln x)$$

$$e^{G(x)} = e^{-\ln(\ln x)} = \frac{1}{e^{\ln(\ln x)}} = \frac{1}{\ln x}$$

$$\frac{1}{\ln x} f'(x) - \frac{1}{\ln x} \cdot \frac{1}{x \ln x} f(x) = 0$$

$$\left(\frac{1}{\ln x} f(x) \right)' = 0$$

$$\frac{1}{\ln x} f(x) = C \quad f(e) = C = 1$$

$$f(x) = \ln x$$

Πολυωνομιαστων Euler

$$f'(x) + g(x) f(x) = 0$$

Πολιτω νυντου γε $e^{G(x)}$

οπου $G(x)$ παραγωγιστη $g(x)$

$$e^{G(x)} f'(x) + g(x) e^{G(x)} f(x) = 0$$

$$\left(e^{G(x)} f(x) \right)' = 0.$$

$$32. \textcircled{\epsilon}. f'(x) \cdot \sin x = e^x \sin^2 x - f(x) \frac{\cos x}{\sin x}$$

$$x \in (-\frac{\pi}{2}, \frac{\pi}{2})$$

$$f'(x) = e^x \sin x - f(x) \frac{\cos x}{\sin x}$$

$$f(0) = 1$$

$$f'(x) + \frac{\cos x}{\sin x} f(x) = e^x \sin x$$

$$g(x) = \frac{\cos x}{\sin x}$$

$$G(x) = -\ln|\sin x|$$

$$e^{G(x)} = e^{-\ln|\sin x|} = \frac{1}{e^{\ln \sin x}} = \frac{1}{\sin x}$$

$$\frac{1}{\sin x} f'(x) + \frac{1}{\sin x} \frac{\cos x}{\sin x} f(x) = e^x$$

$$\left(\frac{1}{\sin x} f(x) \right)' = (e^x)'$$

$$\frac{f(x)}{\sin x} = e^x + c$$

$$\begin{aligned} &\stackrel{x=0}{f(0) = e^0 + c} \\ &1 = 1 + c \quad c = 0 \end{aligned}$$

$$f(x) = e^x \sin x$$

33. (B) $x f'(x) = (x-1) e^{-f(x)}$ $f(1) = 0$

$$x f'(x) = (x-1) \frac{1}{e^{f(x)}} \quad x > 0$$

$$x f'(x) e^{f(x)} = x - 1$$

$$f'(x) e^{f(x)} = 1 - \frac{1}{x}$$

$$\left(e^{f(x)} \right)' = (x - \ln x)'$$

$$e^{f(x)} = x - \ln x + C$$

$$\underline{x=1}$$

$$e^{f(1)} = 1 + C$$

$$e^0 = 1 + C$$

$$C = 0$$

$$e^{f(x)} = x - \ln x$$

$$f(x) = \ln(x - \ln x).$$

$$\textcircled{8} \quad f'(x) + 2x f(x) = 0$$

$$x > 0$$

$$f(1) = e$$

$$f(x) \neq 0$$

$$g(x) = 2x$$

$$G(x) = x^2$$

$$e^{G(x)} = e^{x^2}$$

$$\rightarrow e^{x^2} f'(x) + 2x e^{x^2} f(x) = 0$$

$$(e^{x^2} f(x))' = 0$$

$$e^{x^2} f(x) = C$$

$$\underline{x=1}$$

$$e f(1) = C$$

$$e^2 = C$$

$$e^{x^2} f(x) = e^2$$

$$f(x) = \frac{e^2}{e^{x^2}}$$

$$f(x) = e^{2-x^2}$$